


Write what BODMAS stands for in the box above.  


Make it memorable to you.





Cut out side A and stick it in your book once you have filled it in.





Answer the following questions in your books.





A





B





1.  6 x 4 + 45 = 			





2.  (9 + 4) x 10 = 





3.  92 – (10 x 5) = 





4.  12 ÷ 5 + 18 = 





5.  12 x 12 + 9 = 





6.  10 x 4 ÷ 2 = 





7.  560 – 5 x 6 = 





8.  14 – 1 ÷ 2 = 





9.  69 – 4 + 9 + 15 =





10.  (56 + 56) + 9 ÷ 2 = 





11.  (45 + 45) x (5 x 2) =





12.  (13 – 2)  x (4 + 3 ) = 
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Extension





Insert brackets in 2 different places to get 2 different answers.





a.  15 – 4 x 2





b.  9 x 4 + 6 =





c.  12 ÷ 2 + 4 =


	


d.  4 + 6 x 7 =





e.  22 + 3 x 4 =





f.  5 x 2 x 3 + 4 =
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